SIS0l £1996-0001326

(19) CH&tel =<4
(12) BHEAS

(51) Int. GI.° (11) BMBE  S1996-0001326
DOBM 15/43 (43) BHLX 1996=H01225
(21) 24¥S < 1995-0016883
(22) EAAT 199514062222
(30) QUAE=H 9412484.9 19944062202 =2 (GB)
(71) =20 ASRIOIE HE & R0 20IEIE 22X DE HWXES MUIX
A= YAE DISTE HIE8 0N 2| BEHIRl G122 2RC UAE
210-222
(72) LAR A2 Z glol
2= HYUY HI29 6EIH| A2l 23 dINER Z2KE 313
224 RIS
2= RAHA CI2t0111 508 IIHEIAH ESHHX EC0IE 9
(74) thelel s

(54) BS99l 9 el 4y

29

2 U2 AE0 2" EH42 20ole S el gyl 28 2122, o 3229 "2ol(loading)"E
SUHAZIE (A29 &€& Y HX S0l 25%tK2 =80 ER&E)x=H4S H3stCh. 0l X2 ZA
Is SIg=229 "E"0l HE SO 50-73%I)F TAH oSt Ol0 AScte NEo 29H EH42 N3&
Ct.

=y

[gHo HE]

XNEo| g Fal Yy

2 UHEe B2 AH0IBZ2 M2 UES 425K %A=

(57) &P29 g9

s 1

MNEN HE EHS 20ol= A= Kl Ul JAA, COS HHE Zess SEAoz o= A2 ¢
o Heldd: (a)RE2 Z2(3E2AR2IIL) TAILE FIE29 £22MOZ &A= SH ; (b)
SIEIAIZI 22 A0 22 20| 13-25%0|T= HXZAII = S ()RE A% Wl JIHEe=z DX
=, ZelTD S0 2240 ZSHE MXESH| ol HXZA2 SEXNESES A2LI0IR FSAIIIE SH;
()AFSEAIZID] & MO E &t A2 Sot 22 dHiE (batching) A2 S (e)3DF 212 50 oloz2 &
BHAIDID] QITH BEHAIZI SEHE ASHAIZI=E SH:; (f)E22 HE L HXAIs S

s 2

Mgl ANAN, Z2(3IEEAL2IIL) TALE S22 JIEXNO2 HEZIIA(TIEEAILLY) ZA
Igs 8902 0|R20&2 Aoz ol= AE9 ¢ xel ¢y

s 3

Mgt LA, ZCI(3IEEANL2IL)ZIALIE S22 HECIIIA(GIEESALY) TAIE A &
A-S RSS20 SEHES L2 SHCZE o= H=2 YWEX Y.

HPE 4

78 5



1996-0001326

=

=

5

=

=

N

n
[=)

THr i R — |
I i R w S R0 &0 I r 57
S < - & % o 0 1o =0 1
3 - 0 R Ok o MM_ i =Rl
° 5 T 3 @ i = ol =
o 00 ol oT Gy o ) RO X016
2 =< i i 5! L or iy
& i Ko Ul i . o 5 0|
R O Ok OF o0 RO
| A._ — D_.E :__E 70 HD Y _L_.N
W A_v ol Rr — < ilod _ E__.
S o1 K ol o <] :|_ I+ 0, ol
0 g4 2 = OF o S iy 1 ol
o0 = Q n0 X0 MH n ok ol &
= o1 K <| L S _ W _
10 2 ol g of zl -3 T
<k o 0 - o 1 Ok 0 ul %0 1
= or D T = g
s = 0 o] i - U5 g S K0
RJ K 0 Of 2 ol RS 2 s ok
ou ol or I 0 = ) o=
0o = ol ol e H 0lJ R0
R ob 80 Jo R < o7 s e
_ 4D _ IH il o OF ol S 0 [
K0 ol < = ™ W N 0
0 A < i ~ w " & oo
Z 3 2 'S ok oL W = ok zz O
= _ o} o o _- =0 Rl = U
= = d © gr 51 ol =) S = .
= — o = - 3 il o ] R
A oJ E] _ 10 ) |5 =2
Yz o = N R i O = gr A
23 %) B W 0 4T _ RO 3 = Mo
-0 .20 1o : 1 ~ o Ur ol 5 3B
. of D - 80 = z 2
X5 X 0 <30 = 2 00 0 zd  ©
= SR - = i %5 < @0 KT S o
ot gr GERN z S ooy = 2 of OF = o2 =
s =% 2 =X sl m o u® 3 =3 o
00 ___L_M 100 57 oﬂ 0 2 00 _ = _m_m UL S o =
iy ) mﬁ - B 5 @% 0 50 M____M . 5o ﬁ
Y = N |
Jlol J| =3 JI O Iy i) 20 s 100 30 g W
S RO = - B0 SRl S or K ¥ 55 m
ur 1o T __ @_ Ji o x z = Ky
Kio Kio =0 Ko JJ k0 <0 e = 2 W= ko OF 1
50 I gl ot s 0 '© U K g tH 80 )
© 00 ~ 00| o 30 io o 00 — K0 N M o S 4w D o0
50 _.n_u;lD L PRO ., S0 Y z W ) omw - row_m - = — WUO - __8a =
___m_vl 750 ﬂ_ ___m_vm o ulr 00 0 — 00 - @_ 00 - <0 _._.mo __nov 110 _._.mo 750 m_._ _._.mo 50 a1 _._.mo & = .ﬁrh_
W o= R = e B et L R | | | 1 g =rE:
RAL W ORW R ORM R DU W 0 R ORO R RO R ORR R 0SH

2-2



